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Exam A

QUESTION 1
You are the administrator of an ONTAP 9.8 cluster. You have configured an hourly snapshaot schedule for all NAS volumes. One of your users accidentally deleted an important spreadsheet file on an SMB share. The file needs to be restored as quickly
as possible by the Windows user.

Which statement is correct in this scenario?

A. In Windows Explorer, right-click an the SMB share where the file was deleted, go t0 previous versions select the file and copy it to the original location.

B. Onthe cluster CLI, execute the volume snapshot restore—f£ile command with the options to select the SnapShot, path, and restore-path.

C.Onthe cluster CLI, execute the volume clone create command with the -parent-snapshot option set to the latest Snapshot copy and share the cloned volume as an SMB share, then copy the file back.
D.In ONTAP System Manager, navigate to the volume where the share resides, click on snapshot copies and restore the latest SnapShot copy.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://docs.microsoft.com/en-us/azurefazure-netappfiles/azure-netapp-files-manage-snapshots

QUESTION 2
After creating several volumes, you notice that the hosting aggregates immediately show a decrease in available space.

Which volume setting would prevent this outcome?

. space guarantee set to “volume”
_space SLO set to “semi-thick”
_space guarantee setto "nonge’
_space SLO set to “thick”

o0 m>

Correct Answer: B
Section: (nene)
Explanation

Explanation/Reference:

QUESTION 3
You want to prepare your ONTAP cluster and your ESXi cluster to connect NFS datastores over a 10-GbE network using jumbo frames.

In this scenario, which three configurations would accomplish this task? (Choose three. )

A. Enable jumbo frames with an MTU of 1500 for your ESXi hosts

B. Enable jumbo frames with an MTU of 9000 for your ONTAP cluster
C.Enable jumbo frames with an MTU of 1500 for your ONTAP cluster
D.Enable jumbo frames with an MTU of 9000 for your ESXi hosts

E. Enable jumbo frames with an MTU of 9216 for your switches

Correct Answer: BDE
Section: (none)
Explanation

Explanation/Reference:
Reference: https:/library.netapp.com/ecm/ecm download file/ECMLP2496234 (9)

QUESTION 4
Which two storage efficiency features are enabled by default on AFF systems? (Choose two. )

A volume-level inline deduplication
B. aggregate-level compression

C. LUN-level compression
D_aggregate-level inline deduplication
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Correct Answer: AD
Section: (nene)
Explanation

Explanation/Reference:

Reference: hitps://docs . netapp.com/ontap-9/index jspMopic=%2Fcom.netapp.doc.dot-cm-vsmg%2F GUID-C1E3029E-1514-4579-939B-67 16 0E849632_html

QUESTION 5

When you perform an upgrade using ONTAP System Manager 9.8, which two statements are true? (Choose two.)

A The images must be manually uploaded to the cluster by using the ONTAP System Manager interface

B. The latest available images will appear in the ONTAP System Manager inter

face

C.The images will be automatically uploaded to the cluster by using the ONTAP System Manager interface from the NetApp Support site

D The update history is available within the ONTAP System Manager interface

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
QUESTION 6
Click the Exhibit button.
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You have an SWVM-DR relationship as shown in the exhibit. You are given a new requirement to use SnapMirror Synchronous (SM-5) for the data volumes in NFS-SWVM-01.

In this scenario, which solution is supported to enable SM-5 in ONTAP 9.8 software?

A. Set up new SM-5 relationships from the FAS2720 to a new destination

B_ Set up NetApp Cloud Sync with a cloud broker in AWS to replicate to a new destination

C.Modify the existing SVM-DR policy to use sync mode
D. Set up new SM-5 relationships from the AFF A220to a new destination

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 7

Which two types of capacity tiers are supported with FabricPool aggregates in ONTAP 9.87 (Choose two)

A. StorageGRID Object Storage
B. 53 Object Store

C.SWIFT Object Store

D_NFS Export

Correct Answer: AB
Section: (none)
Explanation
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Explanation/Reference:
Reference: hitps/f'www.netapp.com/pdf.himl?item=/media/7 335-sb-3692 pdf pdf&v=202093858

QUESTION 8
Click the Exhibit button.

cluater::> network interface show -vaserver SVM A -fields data-protocol
vesrver 1if data-protocel addresas

SVH_A l1if-3vH-A nfs, eifa 10.0.1.250

cluster::> volume show -fields vserver,volume,aggregate,policy, junction-path -vserver SVM_A
veerver volume aggregats policy juncticn-path

aVM_A SVM_A_root  aggrl pelicy-vel_a /

SVM_A VoLl_hA aggrd policy-wol_a -

2 antriss wers displaysd.

cluster::> sxpart-policy ruls show -veserver SVH_A -policynams ;:Licy-:ql_a

Folicy Rule Roceas Client RO
Vesrver Mame Index Pretocol Hatech Fule
sVM_A policy-vol_a 1 any 10.0.1.0/24 any

A Linux host with the 10.0.1 24 IP address is unable to mount the VOL_A volume using NFSva.

Referring to the exhibit, what is the problem?

A The volume is in read-only

B_The logical interface does not allow the NFSv3 protocol
C.The host IP address does not match the export paolicy rule
D. The volume is not mounted in the namespace

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 9
A user wants existing data in a FlexVol created in ONTAP 9.1 to be placed into a FlexGroup volume with ONTAP 9.8.

In this scenario, which two statements are true? (Choose two )

A Use SnapMirror to replicate data from FlexVol to FlexGroup
B. Use XCP to copy data from a FlexVol to a FlexGroup

C.You can convert the FlexVol volume to a FlexGroup volume
D_A FlexVol to FlexGroup conversion is not supported

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Reference: https://docs.netapp.com/ontap-9topic/com.netapp.doc.pow-fg-mgmt/GUID-A4353BOE-COF7-4COD-9ET2-2989543FEC 97 . html

QUESTION 10
Click the Exhibit button.
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Clusterl::> network interface show
Logical Status Hetwork
Vaerver Interface Admin/Oper Address/Mask

Clusterl_Nodel_cClusl
g up 169.254.170.170/16

:‘lua-:ar'l_h?nda'l_l’:lu..!:e'
up/ up 169.254.69.110/16

clusaterl Node2 Clual
updup 165.254.64.13/16

Clusterl Node2 Clus2
up/up 165.254.236.53/16

Current Current
Hode Port

Clusterl Nodel clusl
e0a

Clusterl Nodel Clus2
el

tlusterl_Node2 €lusl
ala

Clusterl Node2 Clus2
elb

false

false

falase

falae

After an ONTAF upgrade, you notice that several cluster LIFs are not on their home ports as shown in the exhibit.

Which LIF option would change this outcome?

A the failover-policy option
B_the data-protocol option

C.the subnet-name option

D.the auto-revert option

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 11

A customer wants to migrate a series of LUNs from a third-party array to a FAS.

In this scenario, which two tools would the customer use? (Choose two.)

A_XCP
B.NKS
C.ADP
D.FLI

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

Migrate a series of LUNs from a third-party array to a FAS.

QUESTION 12
Click the Exhibit button.
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A user cannot save a file on an ONTAP SMB share.
Referring to the exhibit, which action allows the user to save the file?

A. Synchronize the ONTAP Cluster time to the Active Directory time
B. Let the user save the file to a writeable location

C. Set the user permission for the share to write

D. Allow the file type *.rtf in the CIFS Server fpolicy

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 13
Your company requires WORM archiving of data on their ONTAP cluster. The data must not be able to be deleted even by an administrator.

Which ONTAP feature fulfills this requirement?

A. SnapVault software

B. SnapMirror software
C.SnaplLock Enterprise
D.SnapLock Compliance

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: http://doc .agrarix.net/netapp/doc/Arc hive%20and%20Complianc e%20Management%20Guide.pdf (9)

QUESTION 14
Click the Exhibit button.
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You are caching on-premises ONTAP volumes into the cloud with Cloud Volumes ONTAP as shown in the exhibit.
In this scenario, which two protocols are supported? (Choose two )

A NVMe
B.SMB
C.NFS
D.isCHl

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Reference: hitps://docs. netapp.com/us-enfoccm/pdfs/sidebar/Manage Cloud Volumes ONTAP. pdf

QUESTION 15
You have commissioned a new AFF A250 MetroCluster over IP configuration. Your company requires an automatic switchover to the surviving site in case of a site disaster.

What do you need to configure to fulfill this requirement?

A. ONTAP Mediator service

B. cluster failover

C.automated unplanned switchover
D_storage failover

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://doc s.netapp_com/us-en/ontap-metrocluster/pdfsisidebar/Install a MetroCluster IP configuration. pdf (3}

QUESTION 16
Click the Exhibit button.

clusterl: > volume show -vasrver swm2_ clusterl -volums data -£fields space-guarantes, fractional-
reserve,avtosize-mede, space-alo
vEerver volume autosize-mode space-sls space-guarantes fractional-resecve

svmZ_clusterl data  grow none nene 0%

clustexl::> lun show -veerver savmd clusterl -volume data -fields space-reserve,space-allcocaticn
vEerver path space-reserve space-allecatien

avmZ_clusterl feelfdataflun disabled disabled
You have a 2-node NetApp FAS2750 ONTAP cluster. You create a new 20-GB LUN in a new 100-GB volume and write 10 GB of data to the LUN. No storage efficiencies are enabled for the volume or aggregate.
Referring to the exhibit, which two statements are true? (Choose two.)

A. ONTAP reports that the volume is using 10 GB of its containing aggregate
B. ONTAP reports the volume as 20% full
C. ONTAP reports that the volume is using 100 GB of its containing aggregate

www.vceplus.com - Free Questions & Answers - Online Courses - Convert VCE to PDF - VCEplus.com



D. ONTAP reports the volume as 10% full

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:

QUESTION 17
Which two statements are true about NVMe? (Choose two )

A. NQNs are added to namespaces

B. LUNs are mapped to initiator groups
C.Namespaces are mapped to subsystems
D.NQNs are added to subsystems

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Reference: hitp://docs.netapp.com/ontap-9/index jsp 7topic=%2Fcom.netapp.doc.dot-cm-sanag%2FGUID-52A6 BEAT-61F8-4845-91 CB-B13A1526CC 30 html

QUESTION 18
Your company runs a NetApp AFF A220 cluster as a file server for NFS and SMB. You want to use aone of the unused ports to connect a single Windows host directly, using FC. You have converted the UTAZ ports ele and e0f to FC and equipped them
with a 16-Gbps FC transceiver. Your Windows host fails to connect to the storage.

In this scenario, which action solves the problem?

A. Use the arbitrated loop topology on storage and host
B. Use an Ethernet switch between storage and host
C.Use the point-to-point topology on all ports

D.Use an FC switch between storage and host

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 19
What establishes a quorum in a 4-node cluster?

A TieBreaker
B_epsilon
C.cluster peer
D.ONTAP Mediator

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https:Mibrary. netapp.com/ecmdocs/ECMP 118967 98/html/GUID-EFE1DEF4-8B8T7-4 C4A-8E4E-CECTOF 760710 html

QUESTION 20
Click the Exhibit button.
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clusterl::> cluster peer show -instance

Pasr Cluater Nams: cluster2
Remote Intercluster Addresses: cluscerZ-42, 10.598.234.24¢
Availability of the Remote Cluster: Partial

Remote Cluster Hame: cluster2

Active IP Addresses: 10.98.234.246, 10.58.234.243
Clustar Serial Numbar: 1=80=123456

Ramote Cluster Nodas: clusterZ-01, cluster2-02
Remote Cluster Health: falae

Unreachable Local Nodes: -
Rddress Family of Relationship: ipv4
Authentication Status Administrative: use-authentication
Authentication Status Cperaticnal: ok
Last Update Time: 02705 21:05:41
Ipspace for the Relationship: Default

The availability of the remote cluster in the peering relationship shows “Partial”.

Referring to the exhibit, what is the reason for this status message?

A The intercluster LIFs on the local cluster are unavailable and not able to communicate to the remote cluster
B. The remote cluster does not have its cluster license applied properly

C.Some nodes inthe local cluster are not able to contact some or all nodes in the remote cluster

D.The local cluster is unable to authenticate successfully to the remote cluster

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:
Some nodes in the local cluster are not able to contact some or all nodes in the remote cluster.

QUESTION 21
You attempt to create an SVM for CIFS access only.

In this scenario, which three actions must be performed to join the existing Active Directory? (Choose three))

A Create DNS entries
B._ Create a cluster LIF
C._Create a data LIF

D. Create NTP entries
E. Create export policies

Correct Answer: ACE
Section: (hone)
Explanation

Explanation/Reference:
QUESTION 22
All SMB users are reporting that their network share performance is slow on a new NetApp FAS500f HA pair. You determine that the users have converged network adapters (CNAs) with flow control enabled and no option to disable.

In this scenario, which two flow control settings are recommended on the NetApp ONTAP physical ports? (Choose two.)

A Disable flow control end-to-end on data network ports
B. Disable flow control end-to-end on cluster network ports
C.Enable flow control end-to-end on data network ports
D. Enable flow control end-to-end on cluster network ports

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 23
Your company requests that the monthly performance data of your ONTAP 9.8 cluster be exported to a CSV file for further processing.

In this scenario, which three NetApp products satisfy this requirement? {Choose three.)

A Active |Q OneCaollect

B._ Cloud Insights

C.ONTAP System Manager
D. Active IQ Config Advisor
E. Active |Q Unified Manager

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 24
You have a remote FlexCache storage device thatis running on ONTAP Select 9.8 software. The cache origin volume is on an FAS8700 that is running ONTAP 9.8 software. The WAN connection dropped, and the FlexCache volume is in disconnected
mode.

In this scenario, which LIFs would you ping to troubleshoot the disconnect?

A management
B_ cluster
C._data
D_intercluster

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 25
You have created a new FlexCache cache volume and want to warm the cache before clients access the cache volume for the first time.

In this scenario, how would you accomplish this task?

A. Synchronize the origin and cache first with the vo lume flexcache sync-propertiss command

B. Copy the data from the origin volume to the cache volume with the NetApp XCP Migration Tool

C. Prepopulate the cache volume with data from the origin volume using the flexcache prepopulate start command
D.Enable block-level invalidation using the volume flexcache origin config modify command

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://fthinksystem.lenovofiles.com/storage/help/index.jsp ftopic=%2FflexCache volumes for faster data access power guide%2F61415AA5-00E1-445B-9B49-5539F83E7377 .html

QUESTION 26
Click the Exhibit button.
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HOST 1 HOST 2 HOST 3
NFS: NFS: NFS:
192.168.10.11 192.168.10.12 192.168.10.13

><

——— 4 1L
CLIENT SPECIFICATION
192.168.10.11-192.168.10.12

Access protocols
SMBICIFS
FlexCache

ENFS ENFSYI  NFSwW
Access Details
Type Read-Only Read/ W

UNIX = =
Kerberos 5

You recently added a new ESXi host to your Vilware vSphere cluster. However, you cannot mount any of the existing NFS datastores to the host.

Referring to the exhibit, which action solves the problem?

A Enable Kerberos in the export policy

B. Add NF5v4 to the access protocols

C.Add HOST 3's IP address to the NFS export policy
D.Add SMB/CIFS to the access protocols

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 27

After attempting to perform an ONTAP upgrade, it fails during the pre-check.
In this scenario, what would cause this problem?

. idle SnapMirrors
.encrypted volumes
.offline data LIF

. offline volume

o0 m>

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 28
You have an Internet of Things (loT) application that will use SMB shares on a remote ONTAP Select instance. There are no name services and only a local network is available at the remote loT site.

In this scenario, which two features are supported by ONTAP software for the loT application? (Choose two.)

A. SMB3 Witness protocol
B. SMB Server in workgroup mode
C. Active Directory users
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D.CIFS local users

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 29
Your company wants their newly installed ONTAP system to automatically send telemetry data to NetApp to provide early notification of any security risks, bug fixes, and ONTAP updates. Furthermore, in case of hardware failures, a support case should
be opened automatically at NetApp.

Which two NetApp components satisfy the requirements? (Choose two.)

A. ONTAP AutoSupport

B_ Cloud Insights

C.Active 1Q

D. Active |Q Unified Manager

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 30
You want to scale out storage performance for read-intensive data across multiple locations.

In this scenario, which NetApp feature accomplishes this task?

A. FlexClone
B. Flash Pool
C._FlexVol

D_FlexCache

Correct Answer: D
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://www.netapp.com/knowledge-center/what-is-flex-cache/

QUESTION 31
Your company has purchased two NetApp AFF A400 HA pairs.

During deployment, how many root aggregates are created?

Dow >
I B D0 OO

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https/f'www netapp.com/frimedia/l 3482-tr4 375 pdf

QUESTION 32
Click the Exhibit button.
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|IPspaces -+ Broadeast Domains

Cluster Broadeast Domaing Cluster B00D MTU IPspace: Cluster
clusteri-01 ela elb

Cluster
clugteri=02 &0a &0b

Default Storage VMs Default 1500 MTU IPgpace:Default

acmefsd1,AcmeViMD1, cluster1-01 elc e0d ele elf elg
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- = clustert Defautt < a a
lif_acmafs01_g68 L] acmefs01 Defaut 192.168.0.200 clustert-01 e0c

You have an ONTAP 9.8 cluster. After network maintenance, the LIF that is shown in the exhibit is not always on a correct port and is unreachable by users until the LIFs are moved to port e0c or e0d on either storage node.

Inthis scenario, which action should you take to ensure that the LIF only fails over to the correct ports?

A. Change the LIF's failover policy to sfo-partner-only
B_ Split the broadcast domain

C._Create a DNS load balancing zone

D.Create an IPspace

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 33
When you set up an ONTAP cluster, which two SVM types are automatically created? (Choose two.)

A data
B. node
C.cluster
0. admin

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Reference: hitps://library.netapp.com/ec mdocs/ECMP 1354558/html/GUID-D8E0985F-11BF-4589-9457-EOFD 031 30B1F.html

QUESTION 34
An application owner at your organization requests a solution for zero RTO in the event of a failure in your primary data center, where you are using NetApp ONTAP 9.8 software with iSCSI LUNs. The owner wants to avoid reconfiguring the application.

Which NetApp solution would you propose to fulfill these requirements?

A. SnapMirror Synchronous (SM-3)

B. SVM Disaster Recovery (SVM DR)
C._SnapMirror Business Continuity (SM-BC)
D.SyncMirror

Correct Answer: C
Section: (nene)
Explanation

Explanation/Reference:
Reference: hitps://docs.netapp.com/ontap-9/topic/com.netapp. doc_pow-dap/Data%20protection.pdf

QUESTION 35
You are asked to deploy a 2-node ONTAP Select cluster. The physical hardware is located in two different locations and you want the aggregates mirrored synchronously between the two data centers. You must ensure high availability and automated
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switchover.
In this scenario, which two steps would you take to fulfill this requirement? (Choose two.)

A Use ONTAF Mediator service to make sure that you have a quorum for the two nodes

B_Use ONTAP Select Deploy to install the nodes on the physical hardware

C.Ensure that the ONTAP Select Deploy VM resides at a third location other than the two data centers
D.Install the SnapMirror Sync license on the cluster

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 36
You need to increase the number of files that can be created in a volume.

Which two methods enable you to achieve this goal? (Choose two.)

A Increase the size of the volume

B. Set the space guarantee to “volume”

C. Set the fractional reserve to “0”

D Increase the number of files permitted on the volume

Correct Answer: AD
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://docs.netapp. com/ontap-9/index. jsp?topic=%2F com.netapp.doc.dot-cm-vsmg%2FGUID-E4AG2DE4-ETA4-410E-9ESE-EEBS C360D 8FF .html

QUESTION 37
You are asked by your network engineering team to make sure that your NetApp cluster is configured to run LACP on its network ports.

Which network component satisfies this request?

A interface group
B_failover group
C.VLAN

D. broadcast domain

Correct Answer: A
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://library netapp.com/ec m/ecm download file/ECMP 1401193 (19)

QUESTION 38
Click the Exhibit button.
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You are adding a NetApp AFF A400 system to an existing 4-node cluster and want to know which ports you would use to expand your cluster.
Referring to the exhibit, which tool would you use to accomplish this task?

A NetApp Interoperability Matrix (IMT)
B_NetApp Hardware Universe (HWU)
C.Active |Q Unified Manager

D. Active IQ Config Advisor

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 3%
Which three protocols are supported by NetApp ONTAP Select? (Choose three.)

A CIFS
B.i1SCHSl
C.NVMe
D.NFS
E.FCP

Correct Answer: ABD
Section: (none)
Explanation

Explanation/Reference:
Reference: hitps://docs.netapp.com/us-en/ontap-select/pdfs/sidebar/Deep dive pdf (35)

QUESTION 40
You are currently using SnapMirror Synchronous (SM-5) to protect a critical workload at your organization and you want to convert the SnapMirror policy from synec t0 strictSyne.

In this scenario, which procedure allows you to achieve this task?

A. Modify the existing SnapMirror relationship specifying the strictaync policy, then re-synchronize it
B. Recreate the SnapMirror relationship, specifying the strictsync policy, then promote it

C. Recreate the SnapMirror relationship, specifying the strictsync policy, then re-synchronize it

D Modify the existing SnapMirror relationship specifying the strictsync policy, then promote it

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: hittps/f'www_netapp.com/pdf. himl?item=/media/17174-tr47 33pdf pdf&v=20216291358

QUESTION 41
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Which security method would be used to authenticate targets and initiators in an ISCS| environment?

A CHAP

B LDAP
C.NIS
D_letc/hosts

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: hittps//library.netapp.comf/ecmdocs/ECMP 1368845/htm|/GUID-5DC CAEEG-ADEF-4E1D-B52C-F3720D9CB986A html

QUESTION 42
You want to enable the internal ONTAP engine that quickly identifies the file and directory differences between two Snapshot copies. In this scenario, which feature would accomplish this task?

A. SnapCenter
B. SnapDiff
C.SnapVault
D. SnaplLock

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https:/library.netapp.com/ec mdocs/ECMP 119687 4/htm |/ GUID-C2793E0D-0ABS-40FD-9F36-324F3178FFGF .html

QUESTION 43
You need to configure data-at-rest encryption for your NetApp ONTAP 9.8 cluster. Your company does not have Key Management Interoperability Protocol (KMIP) services available but must require a passphrase to be entered when a node is rebooted.

In this scenario, which two actions should be performed to satisfy these requirements? (Choose two.)

A Enable onboard key management

B. Enable common criteria mode

C. Configure an external key management server
D. Enable cluster-wide FIPS-compliant mode

Correct Answer: AD
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc. pow-nve/Enc ryption %2 0of %2 0data% 20at%2 Ore st pdf

QUESTION 44
After creating an SVM in an ONTAP cluster, you are asked to delegate administration of the newly created SVM to an SVM administrator.

In this scenario, which two tasks must you complete? {(Choose two.}

A Set a password for the vsadmin User account

B_ Configure role-based access control (RBAC) for the vsadmin user account
C.Create a LIF for SVYM management

D. Create the vsadmin user account in the new SVM

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Reference: https/f'www ibm.com/docs/en/nseriessoftware/com.ibm.nseries. software.doc/sc 27628501 pdf

QUESTION 45
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After deploying an ONTAP 9.8 cluster, you want to disable the unused Ethernet ports.

In this scenario, which two methods would accomplish this task? (Choose two.)

A Use Active 1Q Config Advisor
B Use ONTAP System Manager
C.Use Active 1Q Unified Manager
D.Use the command line interface

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 46
Which configuration is supported using NetApp's All SAN Array (ASA)?

A. 2-node cluster

B. 12-node cluster
C.24-node cluster

D single-node cluster

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

Reference: hitps//docs . netapp.com/allsan/index jsp?opic=%2F com.netapp.doc.dot-asa-config%2 FGUID-COCY9BEEF-1AAT-429E-BB84-ACSFSE16 D088 _html

QUESTION 47

Which statement is correct about Temperature Sensitive Storage Efficiency (TS3E)?

A TSSE operations on an AFF array are automatically throttled depending on whether data is hot or cold

B. TSSE is enabled automatically on newly created thick provisioned volumes

C.TSSE operations on Cloud Volumes ONTAP are automatically throttled depending on whether data is hot or cold
D. TSSE operations on ONTAP Select are automatically throttled depending on whether data is hot or cold

Correct Answer: D
Section: (hone)
Explanation

Explanation/Reference:

QUESTION 48
A volume is set to use Adaptive QoS with the default policy.

Inthis scenario, which change would affect the QoS throughput ceiling?

A The volume is resized

B. Disks are added to the volume's aggregate
C._Datais added to the volume

D More clients access the volume

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https:/fwww flackbox.com/netapp-storage-qos-tutorial

QUESTION 49
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You have an E3Xi cluster with VMware VMF3 LUNs on an AFF A400 system. After troubleshooting performance issues, you determine that timeout best practices are not set on the hosts.

In this scenario, which NetApp tool would apply the best practice settings?

A SnapManager

B. SAN Host Utilities

C. SnapCenter Plug-in for VMware vSphere
D.Virtual Storage Console {(VSC)

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://docs netapp. comivapp-96/index jsp?topic=%2Fcom.netapp.doc.vsc-dsg%2FGUID-EADGCOT7B-ASE4-4C07-BAD 8- TO0ACEE 089 7B html

QUESTION 50
Your company wants to increase access security in both their NFS and iSCSI environments. Currently iISCSI is not authenticated and NFS relies anly on export policies for security.

Which two enhancements do you use to satisfy this new criteria? (Choose two )

A. Enable Kerberos for NFS exports

B. Enable Challenge-Handshake Authentication Protocol (CHAP) for iSCSI LUN access
C. Enable Challenge-Handshake Authentication Protocol (CHAP) NFS exports
D.Enable Kerberos for iISCSI LUN access

Correct Answer: AB
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://docs.netapp.com/ontap-8/index.jsp?topic =%2Fcom.netapp.doc.cdotfamg-nfs%2F GUID-0D282583-0AGF-4556-AF94-4B0OSF C5AD DES.html

QUESTION 51
Click the Exhibit button.

You have a NetApp AFF A400 HA pair with Fabric Pool enabled on all data using the snapshot-only policy. Users are reporting slow restores when they recover files with the Windows Previous Versions tab.
Referring to the exhibit, what is the highest latency seen an restore?

A_ 10500
B. 10021
C.7689
D.9581

Correct Answer: A

Section: (none)

Explanation

Explanation/Reference:

QUESTION 52

You want to add S5Ds to existing HDD aggregates.

Which MNetApp tool helps you to validate how many SSDs would improve performance?
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A. OnCommand Workflow Automation
B. Active |Q Unified Manager
C.ONTAP System Manager
D.Automated Workload Analyzer

Correct Answer: C
Section: (nene)
Explanation

Explanation/Reference:

QUESTION 53
Windows 2019 reports 500 GB of free space on a disk; however, on the storage side, the LUN has 0 bytes free. When the host deletes files on the disk, auto re-claim on the thin-provisioned LUN does not occur.

In this scenario, which action should you take to enable space reclamation?

A Set the space allocation option to enakble
B. Set the space allocation option to disable
C_Enable space guarantees 0nthe volume
D.Enable space guarantees 0N the LUN

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: hitps://kb.netapp.com/Advice and Troubleshooting/Data Storage Software/ONTAP OS/Storage auto-reclamation does not occur

QUESTION 54
You want to configure Active Directory domain controller access for NetApp ONTAP cluster administration.

In this scenario, which two actions would accomplish this task? (Choose two.)

A. Configure an authentication tunnel through an admin SVM

B.Use the vserver active-directory create command to create a computer account on the domain for a CIFS SV

C. Configure an authentication tunnel through an existing CIFS SVM

D.Usethe vserver active-directory create COmmand to create a computer account on the domain for a non-CIFS SVM

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Reference: hitps://docs . netapp.com/ontap-9/topic/com.netapp doc pow-adm-auth-rbac/Administrator%? 0authentication% 20and%20RBAC pdf

QUESTION 55
You are the administrator of an ONTAP 9.8 cluster. Your company wants to know how many files are in the NAS volumes of the cluster and how old these files are.

Which two tools fulfill this requirement? (Choose two.)

A. ONTAP System Manager
B_Active IQ Unified Manager
C_Active |Q Config Advisor
D.ONTAP CLI

Correct Answer: AD
Section: (none)

Explanation

Explanation/Reference:
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QUESTION 56
SnapMirror Business Continuity (SM-BC) relies on a component to trigger an automatic unplanned failover (AUFO).

In this scenario, what is this component?

A. Tiebreaker software
B. ONTAP Deploy
C.Cloud Manager
D.ONTAP Mediator

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://doc s netapp.com/us-en/ontap/smbe/smbec admin what happens during an automatic unplanned failover html

QUESTION 57
You are attempting to establish a SnapMirror relationship between your ONTAP cluster (AcmeClus01) and a partner company's ONTAP cluster (WidgetsClus01). The clusters are unable to establish a peering relationship. You perform a packet capture
an WidgetsClus01 and do not see any packets from AcmeClus01. You also discover that the IP subnet that is used for WidgetsClus01's intercluster LIFs overlaps with a local subnet at your company.

In this scenario, which feature would enable AcmeClus(1 and WidgetsClus01 to peer with each other?

A. VLANs

B. broadcast domains
C.IPspaces

D. ONTAP subnets

Correct Answer: A
Section: (nene)
Explanation

Explanation/Reference:
Reference: https/f'www google com/url?sa=t&rct=j&g=&esrc=s&source=web&cd=&ved=2ahlUKEw|0 166 PsY 3yAhVKAWNMBHbxDC-kQFjAFeqQIBBAD &url=https%3A%2F %2F download lenovo . com%2 Fstorage%
2Fsnapmirror _configuration and best practices guide for ontap 9. pdf&usg=A0vVawl19DXzCszrQCTAEWGrbRQ7
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